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EXAM 2 TMa,th 125 g& Spring 2014

1. 3] TRUE/FALSE: Circle T in each of the following cases if the statement is always
true. Otherwise, circle F. &
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Show your work for the following problems. The correct answer  with no
supporting work will receive NO credit.

2. [4] Choose ONE of the following. Clearly identify which of the two you are answering
and what work you want to be considered for credit.

(a) (Word Wks #2) If you are given the graph of a force as a function with respect
to distance below, explain to someone who only took the first quarter of Calculus
how to graph the total work as a function of distance.

(b) (Word Wks #4) Explain the Mean Value Theorem for Integrals to someone who
only took the first quarter of Calculus.
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4. [4] ldentify one integral from the previous page and find the general antiderivative
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5. [5) (§7.1 #63) Consider the region under

the curve y = e “#, abovey =0,and =~ R y
from -1 <z <0. >
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(a) (Word Wks #1) Prove the formula
A= %739 for the area of a sector
of a circle with radius 7 and central et
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